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HRENO [#R B2 BEH =) FR |BEE |EE H AR A AFERE |BUAM@IE BRI
2307 2FR ERtpEy [EIRESIN K 2 BRE |EHRE - BERE EREEIFH 3,300 3,630 3,448
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HRENO |2 BEL BEH A KRR |wBEE |BH H R AT AERR (BUAMEKE [HEMESIA
2409 FRBEFR BREERED IEAER 7K 3.4 |BRE |EhETYA v OREKR BAHWET 3 R T 1,980 2,178 2,069
2413 HREMEZR BEEIE A FABRIE—B KN 1 BRE | H 7T I RBERITE EE EEUGTIE2R #EE (PRX) 10,000{  11,000{ 10,450
2415 FRBEFR BEEF A FABEIE—RD S 1 BRE | W77 b7 RBERHY TE BHEBETE 2R #EE (PRX) 10,000 11,000 10,450
2416 FHREMEZR BEEIE A FABRIE—B KN 1 HERE | FIRRE LB =3 BEE 7,400 8,140 7,733
2417 FRBEFR BEEF A FABEIE—RD S 1 BEE |FRRE LBES TE BEE 9,000 9,900 9,405
2418 BREGHPR BREEDREERESL L UCERI EHE® 7 345 |HHE FHLLUAERFER F4R ZH R 2,300 2,530 2,403
2305 23R 1t 2 EREE S 2 BRE |7 hFR—E E BEREFEA 3,400 3,740 3,553
2306 2%H 2 EREE PN 2 BHE [ThFEFy2—BLE T F8IK ERALZERA 3,400 3,740 3,553
2308 23R EREYREY RATE T Ea 2 BRE |BEE 5P IMEEF ¥4 3,200 3,520 3,344
2F%
HRENO [#R B2 BEH A FR |BEE |EE H AR A AFERE (BUAMIE B
2302 ISAEBRFHRE  |BBEINFL SHER X 2 BEEH |EXF— XERISERT LZEEA 2,600 2,860 2,717
2310 ISREDRIFHRRE  [RELP1 SHEH Ea 2 BEE |REREY F IR FI7H AR 3,200 3,520 3,344
2401 HREMEZR KBY - HHEYER [NITEDN HRE (EBY - ZHEPER FE4NR SOKE AR 5,000 5,500 5,225
2401 3 EFR EEHRE [ATTE=DN XK | 34134 |BRE [KEY - SUEFER F 4R KE H AR 5,000 5,500 5,225
2402 HREMEZR EKEBFAB B EBL BRE |MEEBE? F2R AR (BER) 5,500 6,050 5,747
2404 FREBEFR HBEBES RE = X 1 HBEE |MEECERY PAREE 3,800 4,180 3,971
2412 FHREMEZR HER FABRIE—BD = 3 FRE |MEART? FIR FEA 9,500 10,450 9,927
2414 FRBEFR FEF FABEIE—RD 7K 2 BHE | Wh7—T b7 RBYRES #EE (PRX) 9,500 10,450 9,927
2303 e Y ERES THESR A 3 HEE |ERFEAPR ERILFERA 2,800 3,080 2,926
2303 EERERPERERE  (BYERY HETS A 3 BRE |ERBFPAM BERAFEA 2,800 3,080 2,926
2304 EERERPRE  |HMEDP AEBEA = 3 BRE | MEDZEETF R ) LZEEA 3,200 3,520 3,344
2420 EERBHPHERE |[RERKRY 150 ot Ea 1 BEE |BREIRFAMN KE H AR 4,400 4,840 4,598
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2309 ISRESEFHRER  |%ELP plamENG| £l 1 BHE (R4 E—FREFE H5R M H AR 3,200 3,520 3,344
2403 HREMEZR HEHB, C TR KlE| 202 |HEE |(PYREFZEHR B3N SOKE AR 12,000{ 13,200{ 12,540
2405 FRBEFR FEBHYF EF X A 1.2 |HBZE [27H)BEBYT F 2K K E H AR 3,800 4,180 3,971
2407 FRERESE BETHREY S &= KN 1 BRE |[BRREYE BIR AR (BER) 4,000 4,400 4,180
2416 FRBEFR BT ES FABEIE—RD A 3 BEE |FRRE LB L£5 BEE 7,400 8,140 7,733
2417 FRERESE BRI B FABRIE—B A 3 BHE |FRRELBEIRGR TH BEE 9,000 9,900 9,405
2421 FRBEFR REFREER B R 2EE BMEREFYEEY=27) F3IK FEAL 4,800 5,280 5,016
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2406 HEEERR BHRKF IROFH—E2P SEE |BRKT wER (PRX) 6,800 7,480 7,106
2408 HREREZR BRESER FHREA X 2 HRE | BREFER #EE (PRX) 2,800 3,080 2,926
2410 HEEERR ARA} i ERRE X 1 BHE |REF EDUWARD Press 4,500 4,950 4,702
2411 HRERESR RA + ERRE K 1 |HEBR ARE/VZAHALTv I B2 SRR 3,400 3,740 3,553
2423 HEEERR HEGE - $YELts FEEA X 2 BRE |BERE - BHYELT F 2K wER (PRX) 4,800 5,280 5,016




